
  
 

 
  

 
   

 
     

 

   

 

  

 
 

	 
  

 
  

 
	

  

  

    

5.73 
Quiz 21 

[x,p] = ih 

H = p2/2m + (1/2)kx2 Harmonic Oscillator 

dV (x) Force = − (negative gradient of potential energy) 
dx 

d 2x dp F = m = 
dt 2 dt Newton’s laws 

dx p = m 
dt 

d A i ∂A = [H,A] + Heisenberg’s Equation of Motion 
dt ! ∂t 

⎫ 
⎪⎪
⎬ 
⎪ 
⎪⎭ 

A. Evaluate [H,p] 

d B. Relate p to x . 
dt 

C. Evaluate [H,x]. 

D. Relate 
dt
d 〈 x〉 to 〈 p〉

1



 
 

  
 

 

  

MIT OpenCourseWare 
https://ocw.mit.edu/ 

5.73 Quantum Mechanics I 
Fall 2018 

For information about citing these materials or our Terms of Use, visit: https://ocw.mit.edu/terms. 

2

https://ocw.mit.edu/
https://ocw.mit.edu/terms



